# AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	of Utility Northeast	Woodfo	ird Wat	<u>e1</u>
The fo	ollowing is an itemization of exper	nses for provid	ling a metered	service connection.
A.	Meter Size			
	5/8-Inch □ 3/4-Inch □ 1	I-Inch □ 1	1/2 -Inch 🗆	2-Inch
	Other (specify) $\frac{5/8 \times 3}{}$	/4"	-	
В.	Materials Expense			
		Unit <u>Quantity</u>	Cost	Total <u>Cost</u>
1.	Water Meter	1	161.25	161.25
2.	Meter Yoke	1	226,55	226.55
3.	Corporation Stop		42.48	42,48
4.	Meter Box and Top		105.28	105.28
5.	Miscellaneous Fittings		***************************************	
6.	Other (Itemize)			
	1-MXU Single Post 8"x 3/4" Brass sa			
	TOTAL MATERIALS EXPENSE (add total cost)			\$ <u>768</u> .34

C.	Service Pip	e Expense

Type of Service Pipe PP Size of Service Pipe 3/4

le:		Unit <u>Quantity</u>	Cost	Total <u>Cost</u>	
1.	Short Side Service	5'	-29	1:45	
2.	Long Side Service Casing Pipe for ro	50' ad 30'	1.70	14,50	
	AVERAGE SERVICE PIPE EXI			\$ <u>33.4</u> 8	)

### D. <u>Installation Labor Expense</u>

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>
1.	Short Side Service	4	38,57	<u>154.</u> 28
2.	Long Side Service	_8_	38.57	308.56

AVERAGE INSTALLATION LABOR EXPENSE (add total cost and divide by 2)

(add total cost and divide by 2)

\$ 231.42

### E. <u>Installation Equipment Expense</u>

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>
1.	Short Side Service	4	36.43	145.72
2.	Long Side Service		42,43	339.44

AVERAGE INSTALLATION EQUIPMENT EXPENSE (add total cost and divide by 2)

\$242,58

F.	Installation Miscellaneous Ex	pense		
		Total <u>Hours</u>	Hourly <u>Rate</u>	Total <u>Cost</u>
1.	Inspection			
2.	Site Clean-Up	_2_	38.57	77.14
3.	Other			
				1
		-		
	AVERAGE INSTALLATION MIS (add total cost)	SCELLANEO	OUS EXPENSE	\$ <u>77.1</u> 4
G.	Overhead Expense			
	Installation expense (\$	) tii	mes	
	overhead rate (	%)		\$
Н.	Administrative Expense			
	<ol> <li>Office expense for estab</li> </ol>	lishing a nev	v account	
	and billing record.			\$14.00
1.	Total Expenses			
	Materials Expense			\$768.34
	Service Pipe Expense			33.48
	Installation Labor Expense		45	231.42
	Installation Equipment Expense	)		242,58
	Installation Miscellaneous Expe	ense		77.14
	Overhead Expense			O
	Administrative Expense			14.00
ТОТ	AL CONNECTION EXPENSE			\$ 1366,96

## AVERAGE METER CONNECTION EXPENSE COST JUSTIFICATION

Name	e of Utility North east	- Woodfa	ord Worter	
The fo	ollowing is an itemization of expe	nses for prov	viding a metered	l service connection
A.	Meter Size			
	5/8-Inch □ 3/4-Inch □	1-Inch 🗹	1 1/2 -Inch 🗆	2-Inch □
	Other (specify)	entition and add the state of sec	-	
B.	Materials Expense	Unit <u>Quantity</u>	Cost	Total <u>Cost</u>
1.	Water Meter	1	265.99	265.99
2.	Meter Yoke		366.78	366,78
3.	Corporation Stop	1	60.77	60.77
4.	Meter Box and Top	1	176,23	176.23
5.	Miscellaneous Fittings	19 <del>41 2 - 22 - 21 - 21 - 2</del>		7 <u>0-241</u>
6.	Other (Itemize)			
	MXUSinglPost		145.	00 145.00
	8"x1" Saddle	1		2.78 87.78
		-		
	TOTAL MATERIALS EXPENSE (add total cost)	3		\$ <u>1102.</u> 55

Service Pine Evnence						1000		Po *			^	^
C. Service Pipe Expense	3	S	n	e	p	=X	oe	PI	rice	en	5	C.

Type of Service Pipe PE Size of Service Pipe 1

		Unit Quantity	<u>Cost</u>	Total <u>Cost</u>	
1.	Short Side Service	5'	.494	2.45	
2.	Long Side Service Casing Pipe for	<u>50′</u>	1.70	<u>24.50</u>	
	AVERAGE SERVICE PIPE EX			\$ 38.9	<u>1</u> 8

### D. <u>Installation Labor Expense</u>

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total Cost
1.	Short Side Service	<u> </u>	<u>38.5</u> 7	154,28
2.	Long Side Service	8	38.57	308,56

AVERAGE INSTALLATION LABOR EXPENSE (add total cost and divide by 2)

\$231.42

### E. Installation Equipment Expense

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total Cost
1.	Short Side Service	4	36.43	145.72
2.	Long Side Service	8	42.43	339.44

AVERAGE INSTALLATION EQUIPMENT EXPENSE (add total cost and divide by 2)

\$ 242.58

		Total <u>Hours</u>	Hourly <u>Rate</u>	Total Cost
Inspe	ection		· · · · · · · · · · · · · · · · · · ·	
Site	Clean-Up	2	38.57	77.14
Othe	er			
1				
*****			99-0	
a <del></del>				
AVE	RAGE INSTALLATION MI (add total cost)	SCELLANEC	OUS EXPENSE	\$
Ove	rhead Expense			
1.	Installation expense (\$_	) tir	nes	
	overhead rate (_	%)		\$
Adm	inistrative Expense			
1.	Office expense for estab	olishing a new	account	
	and billing record			\$14.00
Tota	I Expenses			
Mate	erials Expense			\$1102.55
Serv	ice Pipe Expense			<u>38.</u> 98
Insta	llation Labor Expense			231.42
Insta	llation Equipment Expens	е		242.58
Insta	llation Miscellaneous Expe	ense		<u> 38,5</u> 7
Over	head Expense			
Adm	inistrative Expense			14.00
TAL CO	NNECTION EXPENSE			\$ 1668,10